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© 1, version
o 2, get_temperature
o 3, reboot
o MERRZEL
© 1, measure

o 2, enable_output

1) '{','} SHEHNE; FEFBEIRLEE; <br>
2) ', SHHE;<br>
3) ';' HDE; <br>
4) '[ 1" BEBRIDS, HHIDBETRAXIESSIREIZERER; <br>
5) '(',")" BESHEER; <br>
BOKEWS: [ID]GSH{BH. . ... M\n. Eep[ID]A. <br>
S8 880, ..., 58 nwbr>
IEFREILERIET . [ID]ACK (xxx ; DONE ; Bt {E]&) <br>
HRREIERIET,: [ID]ACK(errror information;ERROR;AJEIEL)<br>

RIEIBST.: AREan<SRIER, KixanSRIEZER, IRBIEREY , REIERNEZE ; [EEZD

errror information: ERR_X<br>
9) X=-70: RERIEI=;<br>
1) X=-75: {8AT;<br>
2) X=-77: JcID;<br>
3) X=-78: @pHUTIHIR; <br>
4) X=-79: fnHRNTIEIR; <br>
5) X=-80: Faps;<br>
6) X=-193: SEUEIR; <br>
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1, version

version()
SREUIRAGRRAS
S8
7
iIZEHE
ACK (xxx; DONE; i a]E%)
3]

RiEm<S: [0]version()

RENE: === command list ===
version : get version
reboot : reboot system
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======== end =======
[@]ACK (xxx ; DONE ; AthjE]E%)

2, get_temperature

get_temperature()
R ERRE
S8
7c
REHE
ACK(xx;DONE;RFEIEY) xxx B &iRE(E, 81 /9°C
2445

Ri%dpS: [0]get_temperature()
JRIENE: [@]ACK(xxx;DONE ; BHiAIEL)

3, reboot

reboot()
=R
£
7
iZEHE
7
2445

KRIEE<S: [0]reboot()

W ERREY
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1, measure

measure(bandwidth_hz,harmonic_num)

BNESIEEVPp) IS RIE(rmS) SIERKE(THD +N, THD)RJNE

24

bandwidth_hz: int, [24~95977],Measure signal's limit bandwidth, unit is Hz.
frequency of the signal should not be greater than half of the bandwidth.
harmonic_num: int, [2-10],Use for measuring signal's THD.

bandwidth_hzZ#NMNEESHRMRER, HEHENATRNZRERIHarmonic_numfs;

Harmonic_numSE BT RIEREE;
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iZ[ElE

ACK({'vpp': xxx,'freq’: xxx,'thd": xxx, ‘thdn’: xxx,'rms’: xxx;}; DONE;B&]Z)

Hrbvpp SNEIEE freq DIESXRE SHREE thdfIthdn ARIEREKESEL, rmsHIYHAIRE.
o]

KL : [0]measure (10000, 6)
IREME: [0]JACK({‘vpp’: xxx, ‘freq’: xxx, ‘thd’: xxx, ‘thdn’: xxx, ‘rms’: xxx;};DONE;
A /EJ&K)

2, enable_output

enable_output(freg,rms)

B IESZR IR

S
freq: int, [10~50000], Ouput signal's frequency, unit is Hz.
rms: float, [0~2300], Ouput wave's RMS, unit is mV.

freqZ ¥ IS SHBAR, BAILHz;
rmsSENRIHESHISERE, BAAmY;

IROE
ACK(done;DONE;RE)&,)
317

K%< : [0]enable_output(1000,1000)
IR[BIE: [@]ACK(done;DONE ;HdEIEL)
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